Best model for HELP_J143304.391+340453.083 atz = 2.111 )(2=0.79
OPTx?=0.92 IRx?=0.2 threshold (OPT IR)=24.89 [um]

102 Stellar attenuated
----- Stellar unattenuated

1 —— Dust emission
10 —— AGN emission
= Model spectrum
100 ® Model fluxes
M oObserved fluxes
—_— -1
=107 Jroen
E "r-;"__-'_‘_~_~
';' 10_2 L i
=) 3 i /ﬂ‘
o —
10 A m

=
o O
LR

o
o

Relative residual flux .
o
1
1
I
1
I —

] T\ 7
1
I /
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

=3 ==f=(Obs-Mod)/Obs

I
=

10° 10! 107 103 104 10°
Observed wavelength [um]



